Combined Graduate Level Examination 2021 Tier -1

Roll Number
Candidate Name
Venue Name

Exam Date 13/04/2022
[Exam Time 12:30 PM - 1:30 PM
[Subject CGLE 2021 Tier |

Section : General Intelligence and Reasoning

Q1 ﬁqngﬁwﬁﬁﬁwar&ﬁ-waﬁﬁﬁwﬁﬁamﬁum(?)*W‘Naﬂ
qhdi gl

CAF, HEJ, SIQ, XMU, CQF, ?
Ans X 1.MUU
X 2. TUK
X 3. MUJ
4. HUJ

Question ID : 65497842868
Status : Answered
Chosen Option : 4

Q.2 m%mﬁ%ﬁmﬁﬁm%ﬁﬁuwﬁ%(?)$wwaﬁ
|

61, 99, 152, 222, 312, ?
Ans X 1.452
X 2.412
o 3.426
X 4.398

Question ID : 65497843182
Status : Answered
Chosen Option : 3




Q.3 fuw v fareal & ¥ 3@ WY = T FU A AT g@er H v {eg (7) § ®E W3 @
?l

Ans

X1

X 3.

Question ID : 65497842786
Status : Answered
Chosen Option : 4

Q.4 3HeRf o1 a8 TaoH g4 o i far & ad =l R $HeE 0 9 @ o1 R
el qui &1 gt |

r_kn_c__h__bcbt_k_bch
Ans /1. hbbsknhn

& 2.hbbsknhc
X 3. hbcgknhn
25 4.hcbsknbn

Question ID : 65497843380
Status : Answered
Chosen Option : 1




Q.5 wewr, fa1 ¥ far o 9=1 % are1 &1 ST, a1 &1 uTs @ U 9= ik f¥g @1 far 31 g,
JTHT SR T P gPheldl 9l 81 Tl ST 7 4 1 Hay 82

Ans X 1. dgd
X 2.3l
X 3.9

v 4 9R

Question ID : 65497842775
Status : Answered
Chosen Option : 4

Q6 gmmmmmmwaaﬁwﬁ,ﬁmmmwm
I

68:19::164:7?
Ans X 1.45

52,41

253.39

W 4. 43

Question ID : 65497842477
Status : Answered
Chosen Option : 3

Q7 ?Wﬁmmmﬁﬁmwwﬁwmaﬁvw@fmﬁm@am
|

1. SUOR
2. gUR
3. dRRY
4. qEoT
5. JH AU

Ans X 1.4,5,3,1,2
225145
X 3.3,5,4,2,1
7 4.3,54,1,2

Question ID : 65497843273
Status : Answered
Chosen Option : 4




Q8 37 RwheT 1 A H S & T AFT (X) F ITRRT ¥ (@I Fr wgaf a8 )

Ans o ‘.".

Question ID : 65497843192
Status : Answered
Chosen Option : 1

Q.9 I faPped o1 TG BY oY Y SHeR-TUE ¥ I UpR Wl 8 R veR g seR-
HHE U 38R T & Gafia 21

RJB: TGF :: QPG : ?
Ans X 1.S0J
K 2.TNJ
7 3. SMK
X 4. RMK

Question ID : 65497842568
Status : Answered
Chosen Option : 3

Q.10 49 em s =Ter ver T @ Tl FEeRt 9T AR T F G Sar § 3R RN SR 7 om s A oo
Te # FeT e ¥ W O uA B T A AT e Fad & Gow T I g

Ans 1150
X2 25
X 4100

Question ID : 65497842888
Status : Answered
Chosen Option : 1




Q11 % fafia P HIHT H, first of all’ @ ‘kan dan san’ % ¥ & for@m \'rl'l?lT%, ‘who is first' B!
‘zan kan ven' & 30 ¥ foraT ST € iR ‘this is pale’ @Y ‘ven gen len’ ferar wirar 81 it
e YT | ‘who’ @1 fobey =0 # ferar simaam?

Ans X 1.yen
X 2.gen
25 3.kan
/4. zan

Question ID : 65497843177
Status : Answered
Chosen Option : 4

Q.12 Ty et & 39 Tl Tt &1 9a= &3 o g witesor # « Rl & = w® wite
T Y G TR GHIHRT e g1 S|

88*120*42*240*48*2
Ans 1= -+ + X
XKoo= %+, —
KBx, = -+
Kb+ 5 - = %

Question ID : 65497842885
Status : Answered
Chosen Option : 1

Q.13 gig af Ugd, TSN 3R HRH Pt 3Tg BT 3UTd 4 : 1 AT| UiF aY qTq, ITAS! MY BT U
2 : 1 81 ST | GRY & TA g (auf §) fpait 82

Ans 7 1.10
K212
/< 3.8
X 4.14

Question ID : 65497842579
Status : Answered
Chosen Option : 1




Q14 7 37 M@ F ToF FT N AEASRT ¥ a9 T9Y I Galcad 9 ¥ a2 2l

“\O )0

Ans

(0 O
O

O
O

O
5

=

Question ID : 65497842589
Status : Answered
Chosen Option : 2




Q15 Fear 9w o ¥ PwaeR seaw fam fr 3K Sz w5 40 #rex ¥ e 9% v’ wEdh § sk 75 Aew
% glseh 1 B g gt 3w g sk 30 Fex @i, it Rt gl 3t gEeT 75 ex i w7 s &

o foum # iz wWr 47
Ans X1 E%UT
X2 ﬁﬁ-
X3 ofges
v qq

Question ID : 65497842482
Status : Answered
Chosen Option : 4

Q.16 "R E, F, G, H, 1, J 3R K, TP Td A% $ Uikd: 59 $5 o 3R SfHga g a8 81
F 3R 1, A G P SIp T SR ST T A IS 1 H, G P 1T I VI W doT 81 E 3R
I, P T H IS FUE | H F 1P I 1A | HIT 33T 82

Ans 7 1.K
X 2F
X 3.H
K 4.E

Question ID : 65497842776
Status : Answered
Chosen Option : 1




QA7 i gdor s Peifea fm & IEr AR o T W ¥, @ & W€ gty % adur F R wd sRf
T =TT B

Ans

d

Question ID : 65497842789
Status : Answered
Chosen Option : 4




Q.18 <l fAf3a Be yTaT UToT &, "ONION' FT 201 ¥ U H Heas ar o @ 3R 'POTATO!
B 261 & ¥ ¥ Hegs fbar wrar 21 34 e Wi &, 'MANGO' F1 {5 =0 § feas

fooan s
Ans X 1.228
X 2.208
7 3.150

2 4.178

Question ID : 65497842469
Status : Marked For Review
Chosen Option : 3

Q.19 forg Twiievu # Ugfera B F e 5 31 el #Y o § Seom 3 sTavgHdr 82
7+56+8%x2-13=11

Ans . 1.73R8

® 2.83R2

XK 3.73R2

X 4.73R13

Question ID : 65497842783
Status : Answered
Chosen Option : 1

Q.20 ;ﬁggﬁﬂﬁ@agﬁwgﬁqﬁﬁaﬁ@aﬁﬁumﬁ%m%wwm
|

298, 217, 168, 143, 2
Ans X 1.128

/< 2.138
X312
W 4.134

Question ID : 65497842880
Status : Answered
Chosen Option : 4

Q.21 Tl A3 pe uron &, 'FLASK' %1 IPFYR' frat wirar 81 3t e uTen & 'TOURS' &1 T
ferar wimem?
Ans 7 1.WSZXZ

X 2. WTZXZ
X 3.wWsyyz
< 4. WRZXY

Question ID : 65497843377
Status : Answered
Chosen Option : 1




Q.22 {3y TT w3 et B eagdS U8 1 9% A §¢ f el & 6 S went 9w g,
Y g1 U8 I U 9 91d a2t 9§ firy ydid gidl 8, 99 @ fob few u el § § i
| fored Byl ST aifd® U J SR H3d &

oo 4R, 4 ¥
PO i [
Tt 09, TR B
i iR, PR g1

fored:

1. 9 PR, T &I
II. $° per, TR §1
. $9 IR, I8

Ans X 1. fsBy | 11 @R 11 gt SrERr vd B
7/ 2. Had A5 1| 3R 111 SR R
X 3. 5ad B | 3R 11 STERY B B
2 4. Faa By 1| 3RO BT B

Question ID : 65497842878
Status : Answered
Chosen Option : 2

Q.23 IR 3i&R-Tqg fou M g, ford @ i+ el 7 {5l vor @ 7w § ok ve eRiTa 31 59
ST JER-TYE P 99 B

Ans X 1.BFJNR
X 2. KOSWA
7 3.VZDHN
X 4.QUYCG

Question ID : 65497843173
Status : Answered
Chosen Option : 3




Q.24 foom srgforal & wrsr & OF gFS W A W HA (gt i 3R i F) @i mw ¢ sk g2 ge s
ﬁm#ﬁ'ﬁl(aﬁzﬁmﬁ)aﬁéﬁéﬁimﬁmmwﬁs&m(iii)?ﬁ@gw@
T e o @

) (i) B

Ans

JAN
3. O
V4

Question ID : 65497842487

Status : Answered

Chosen Option : 3

Q.25 feu T e AT ¥ 3R I WS FT TG FY Wil S FHaTas F0g (2)
F TIH WR ST TPl 5

159144
18127
2217 195

Ans X 1.188
X 2.224
25 3.255
 4.180

Question ID : 65497843186

Status : Answered

Chosen Option : 4

Section : General Awareness




Q1 i@ # 9 59 YR g § oyt Aavere udd fdd, g SiemmgR @1 T o
BT STl 82

Ans X 1. 9@ §a
X 2. &G
7 3. IRTS
X 4. 3feam

Question ID : 65497842905
Status : Answered
Chosen Option : 3

Q.2 3 , I Hroreii A e § R adur § vaferd wrdig gar Hiel & f geaat gita
I

Ans X 1. STl
K 2. 941
o7 3.7t
X 4. fgdit

Question ID : 65497842491
Status : Answered
Chosen Option : 3

Q.3 3ffe Tdevr 2020-21 F SFUR, HRA + 2007 # TGd SIG S99 B RITIHT & 91
J o ygell aR =M 50 Fa=Ad =i & wa=r fSani

Ans X 1. 2017
2. 2018
2 3. 2019
4. 2020

Question ID : 65497842593
Status : Answered
Chosen Option : 4

Q4 frafif@a # § $I9 te YRHE Hic BR Hifbe e §, s 94t ¥ g T ok arit
AU T9M P T R THIU TR BT 61 6T 82

Ans X 1. 3eUS 13T (Helpage India)
7 2. gAY TR (Sulabh International)
X 3.7 (Goonj)
2% 4. TYH (Pratham)

Question ID : 65497842801
Status : Answered
Chosen Option : 2




Q.5 P I AUAM F U § gyt fhar sirar @ 9 R dgfty 9 ugem @ e ag

P G8T BT BN (FRR 21w 3R R 7et a1 F1 /e W) |
Ans X' 1. dIg-dM™
X 2. g8l A
7 3. 3l a1y
X 4. AUMEE ST

Question ID
Status

Chosen Option :

: 65497842600
: Answered
3

Q.6 Ty IRR I F Heay § i & @ S0 =0 ot e fadvar g2
Ans 7 1. 3T Had A [afert g §

X 2. 390 fRD) ©R arclt far St &

2 3. TaeH & for fordieR § iR aifie Jgdi off v vl §

X 4. 59 fafrs agPd IR Bl &

Question ID
Status

Chosen Option :

: 65497842898
: Answered
4

Q.7 IWC-3TC (Ummatt-aat)’ ﬁmﬁﬁmwmﬂﬂel
Ans X 1.9l

2. ?"f

X 3.TED

X 4. 3R

Question ID
Status

Chosen Option :

1 654973843196
: Answered
2

Q8 frfafed @ 9 fow e # smus! Hor ey fdt?
Ans X 1. fqamgR

X 2. e

X 3. TRar

7 4. IR

Question ID
Status

Chosen Option :

1 65497842894
: Answered
1




Q.9 eﬁﬂaﬁwsﬁ?m@%maﬁmﬁmﬂmﬁwﬁm;ﬁmw
PEar 87

Ans X 1. HENIFRE T
7 2. TEIgIUN aidh
X 3. ggIgidi grd
X 4. 3@ HeH

Question ID : 65497843209
Status : Answered
Chosen Option : 3

Q.10 FEfRIRET # | S I1 5T 100% HE-Td STSHEITS ¢U BRI (FHTCs) B Sl
UTCd 6 dTelT 3 BT g8RT 37 & 41 87
Ans 1. qQTHET

X 2. d
X 3. foeiRg
X 4. Tfdpn

Question ID : 65497843202
Status : Answered
Chosen Option : 4

Q.11 fomfiafEa & & $19 1 SrF, YR § i arral @ Jdfm S St sreear s a1
Jrgufa ay URdg afoRe & 3182

Ans X 1. 209 3¢ Sfea oifdAg, 1014

2 2. aAAC 3T fEaT UaE, 1919

X 3. T 31t ha< Tae, 1891

4. Fed 9, 1884

Question ID : 65497842908
Status : Answered
Chosen Option : 2

Q.12 Frafif@d # § B9 91 YRS Tgaar AT 2021 § 65 kg WSS $IAT & {3 671 e 1
TEAar S1?
Ans X 1.7d9 $HR
X 2. gfia par
/3. FoR gfar
X 4. MR &

Question ID : 65497842614
Status : Answered
Chosen Option : 3




Q.13 YRA A a9 o uriva Tw fUfram & areaw & sivafira s aerrsit wR wfaey
qm fear A

Ans 7 1.2019
X 2.2017
25 3.2018
X 4.2016

Question ID : 65497842813
Status : Answered
Chosen Option : 2

Q.14 gﬂﬁuﬁmﬁ@eo&ﬁ@w%m—maﬁ%ﬂmﬁmizsoﬁm R
I

Ans . 1.32,500
X 2.%7,000
X 3.%5,000
X 4.31,000

Question ID : 65497842509
Status : Answered
Chosen Option : 1

Q.15 fmffad # 3 feaa giad= o 99 wifc far a1 w19 39 gawH § T IrHTsd 1
3ITehHUT fo5ar 41?

Ans X 1. Fifdar uum
X 2. TR
X 3. Tasmice num
4. gasiRHE feda

Question ID : 65497843210
Status : Answered
Chosen Option : 4

Q.16 YR B FHT & P! AR[(wE & e § S fog af wda yRa & dfau &
FTUPR R =R f5ar mn?

Ans X 1.1945
5 2.1946
£5 3.1931
7 4.1928

Question ID : 65497843218
Status : Answered
Chosen Option : 3




ST 3fs R AT 82

Ans 7 1. 12.5%
X 2.10.2%
25 3. 11.6%
X 4. 13.7%

Q.17 38 2021 § RIS G&T BV (IMF) GRT &t TS YR & THd U IIG (GDP) Bt 2021 A

Question ID : 65497842796
Status : Answered
Chosen Option : 1

FUH BRI
Ans X 1. 10,000

7 2. 1000

X 3. 10
X 4. 100

Q.18 THE & U 3| FGUIGT S TUHT WY1 ot & I H gol THS S AE (THH) &

Question ID : 65497842803
Status : Answered
Chosen Option : 2

T & YR & BeRmr 412
Ans 7 1. 3SUM 3T 3t

K 2. A gIoRT

X 3. WIS g

X 4. IR Slarad

Q.19 frmfifEa Tdaar Il & & e YRd SIS! siciad & SR Yas & Marferdr ¢®

Question ID : 65497842505
Status : Answered
Chosen Option : 1

Q.20 |PL 2021 & R 350 DY T 1A Tea (AT BIF T2
Ans X 1.THUY 4

2. fpa T

3. fga wHf

X 4. wd fefafeed

Question ID : 65497842916
Status : Answered
Chosen Option : 1




Q.21 A @ o @ e srafy it grr ff@a 82
Ans X 1. 3FeRERTS oY

X 2.3 3 dgH
2 3. $eeR 3T AT

S 4. §E YR

Question ID : 65497842507
Status : Answered
Chosen Option : 3

Q.22 fagferfaa # @ f5a arlier 2021 # favis T SreHAaH & 2010 P GUD S FAISS Thiady
SR (oDI) fAwTEt & wu & =fira fovar war 4r?

Ans X 1. feM dgae
X 2. gaEfas
X 3. T A
4. favre st

Question ID : 65497842609
Status : Answered
Chosen Option : 4

Q.23 fmfafed % 9 fra e & to @ ot gea g 82
Ans X 1.fiRfe

‘\/Z.WW
X 3. pg3l
X 4.3

Question ID : 65497842496
Status : Answered
Chosen Option : 1

Q.24 3iid 2021 9@ @ fRUMY F aR, fFEfefEa # @S9 b= sife sfea dawd off
PN TS SSEIN (FICCI) & 3eae 872
Ans X 1. 7H G
X 2. Frdi=r = Tqder
X 3.4y uRg
o 4. 3T YR

Question ID : 65497842809
Status : Answered
Chosen Option : 4




Q.25 5 Sia R (JIM) & T84, YR & TS IR0 TRAR 3 BRI FIeusics &u
HERH (FHTC) Ue $ $T wiaid a4 $i- |1 872

Ans X 1. 2023
o 2. 2024
25 3. 2022
X 4. 2025

Question ID : 65497842598
Status : Answered
Chosen Option : 2

Section : Quantitative Aptitude

Q1 wee 4fF W v g P § AeR F T & seam ®or 30° {1 ofe Amn F ow ¥ Rig P & gl
510 m ¥, @ HaR & FIE & 50% (m F) AT Hifw

X1 85+/3

3
/2. 8543
/3. 85

X4 15043

Ans

Question ID : 65497842635
Status : Answered
Chosen Option : 2

Q.2  dieg gt @ 3iteg 48 B & @ Jeer OF GEnaHt & st 46 ¥, aik sifaw wa gemet W
g 53 31 @iaat AT el d@e, A9 EEm @ FAw 3 3R 7 4R 3 S s aedt gt 5
sitaa Far 22

Ans X1 4D
X2 415
X3 39
4 405

Question ID : 65497844234
Status : Answered
Chosen Option : 4




Q3 & o s &, O geq &7 &7 §1 2P0Q =54° ¥1 2 PRQ & A (Bl &) ar 2

O

[

Ans X1 137
v 2. 153
<3 235
X4 207

Question ID : 65497843235
Status : Answered
Chosen Option : 2

Q4 v gEmER ReEr aFg W SR &4 AT ¥ 20% e Ao AT e § st 10% o oe g
3HF gievE Y A ST

Ats X 1.10%
&< 2. .99,
V3 8%
X4.9.5%

Question ID : 65497843730
Status : Answered
Chosen Option : 3




Q.5 Frifeg i o€ = avmaw w1 3 3uF ae Ry 5w goF @ 39 &)
I e TF WAl A Tiaied 39 S ae afeen He 3R deweie Hw B Fol T & Foa-an
%Wﬁqﬁam%lwmﬁﬁmﬁﬁwm=wsoo

unday \
/sa\urdzw 20‘5/ 6\‘
-\
of
( Frlday w %’f“
10%
Tuesday )
\‘ﬁAe\l
WA o /
\

ffER (saturday) FF &% ow Ifan S 6w AR AT C Aiede e B GEE H T 4
3 ¥ 3fy vw e FF F FEg 7w 38 3R v TiFee Fw w1 BE gFw 215 &, 9 afEr
(saturday)ﬁmmmﬁmm?ﬁmﬂﬁ?ﬂﬂ%ﬁﬁﬁﬁ)m%’i

Ans 1. 10,488
2. 18,480
X 3. 20,000
X 4. 14,880

Question ID : 65497842637

Status - Not Attempted and
" Marked For Review

Chosen Option : --

Q.6 ww AT & TF T H 3 ABAT THEN 50% FT N Wed F ¥ A0 38 T w9 7 faaer et
=T anfge?

Ans X1 4
S22
X33
K4

Question ID : 65497842823
Status : Answered
Chosen Option : 2

Q7 Ry 242+ — 33y = (V2x— V3y)(Ax® — Bay + Cy2), & (A2 + B2 +C?) & AT F4T §?
Ans X118

219

X311

X418

Question ID ;: 65497842829
Status : Answered
Chosen Option : 2




Q8  433x[(4.95)%+4.95x13.25]
[(12.53)2-(5.65)%]x19.9

Ans X1 0.175
xX2.175
3 1.75
X4 175

T AT F4T 872

Question ID : 65497842617

. Not Attempted and
" Marked For Review

Chosen Option : --

Status

Q.9 P sl Q wmr 71,50,000 3 74,560,000 & G ¥ vF @ ¥F F €1 vE I¥ F A 31,60,000 F
T F AP F AT T TR AR T o= S T R AG ¢ 30 Oaa F & F e g
i P & g ¥70,000 Aot §, & 38 wrg daa (% A) = §2

Ans X1. 40,000
X2 25000
330,000
X 4. 50,000

Question ID : 65497842521
Status : Answered
Chosen Option : 3

Q10 Rar srm R v wrRfds o ¥ 232 o #r FE s sEE T a5y g §
B # caEe JeraE w1 A 38 9% BT v R & 3eaw &

TyEeE Fad # aodl & qa 3R IAGT ger g arer e

a5

35

17

AT
anBRERERERE
-4
8
B

120-125 125-130 §30-135 135-140 140-145 M5-150 150-155 155-160 150-165 165-170

T (em #)

Tt Fod & 32 HeW oFa Taeanedt & e 518 (em #) Fw R
HIS Boal EUHAT & UF TAH T Tl Q=]

Ans X1 1664
X2 165.4
/3 164.4
X4 167.4

Question ID : 65497843245
Status : Not Answered
Chosen Option : --




Q.11 A 31l 3mr 7 65% WY AT § WA A H 20.1% A gEry @ ¥ SN waw & 20% g @
¥ 3P Tva F frae wiand (AT ¥ U TE d% W6 e a1 FAT g 67

Ane 1.20.3% Fr B
X2 17.7% & FA
X3 215% % I
X4 18.9% #r w

Question ID : 65497842923
Status : Answered

Chosen Option : 1

Q12 RifT ax o 5 Tt A, B, C, D 3t E & ganst & s de (arah #) i s g garst
& e (@t #) @ guiar §

=g A AR C A ae S faer g (ardl #) e §?

Ans x 1. 285

Question ID : 65497842333
Status : Answered
Chosen Option : 2

Q.13 AABC & AB = 7 cm, BC = 10 cm, 3ix AC = 8 em ¥ afE AD, £BAC FT &1 TFRATF §, Fa
D, BC W foww v g §, & DC (em #) &1 7 a7l

An -
T x4
3

x2 L

3

16

3 —

3

xa 7

3

Question ID : 65497842834
Status : Answered

Chosen Option : 3




Q14 oz e & 3 ST F| TR SOT RS O e F TN o R 34T §, @ TR A 18
fhae Aermt = Ruer 2ar € 3R e deR g 6 fAae Ferr A Rewreard) afe gar &
Aad e @ Repad) & &1 W g emR & U Oy Aes Rem d e gaa (@Bee 7)
2

Ans X1 4
X2 2
K35
43

Question ID : 65497842826
Status : Answered
Chosen Option : 4

Q15 vx 7= F 99T F TF T5 # B60/m2 F W T AR FF A o AW (2 F) Fw GO, AT FEH
=18 70 cm 3R € 6 m 2

(A 7=
Ans 1. BBO
X2 524
<3 812
<4 875

Question ID : 65497844242
Status : Answered
Chosen Option : 1

Q.16 F g # AT AB AR CD, FH AR RGP 9T gieede axar &1 IR AB =7 em, CD = 1
cm 3 PD = 5 cm &, & PB & dars (cm #) =g Hifw)

Ans X1 5§
V2.3
X3 8
X410

Question ID : 65497842933
Status : Answered
Chosen Option : 2

QA7 JABC #, = BC W D we v fig ¥ B £ADC=2BAC §1 TR CA=15cm 3R CD =9 cm &, &
CB (cm ®) #1 a3 AT Hifawl

Ans 1 10
X212
v 25
X415

Question ID : 65497842530
Status : Answered
Chosen Option : 3




Q18 i (cos®8 + sin®8 — 1)(tan6 + cot?8 + 2) + 3 = HH AT HIT=T|

Ans X 1. 2
2.0
X3 -1
X4

Question ID : 65497842836
Status : Answered
Chosen Option : 2

Q.19 24,620 Fr TN 2 T TF et F T e B T ¥ W WS W A 7T T THGR @
T 10% T &, & 9 fmed (T &) Reaar @i

Ans X1 2,420
V2. 2,662
X3 25852
x4 2,750

Question ID : 65497843229
Status : Answered
Chosen Option : 2

% pfr 8A5146B, 88 ¥ =T ¥, OF AB FT T =T 7

Ans 1. 90
X29
V312
X415

Question ID : 65497842918
Status : Answered
Chosen Option : 3

Q.21 ﬂf&’x+)'+z=18,xyz=81 3ﬁ?xy+yz+zx=90 % ar ;;—3+}.r3+zg+x}rz T A AT T
Ans X 1. 9

v2 B

<312

K410

Question ID : 65497842527
Status : Answered
Chosen Option : 2




Q.22 Ryrmifee @ T 5 T A, B, €, D 3iv E & ganst € g ww (Fa #) v o e ganst
&r e (aEt #) 7 oguier §)

Tsa B # ISR 9o st & T, U E # A e gt @ e fr fewe wiaes i

"
=

115

ﬂm 10
>

Fod
w

ST (oGt #H)
) o
bl e I

Ans X1 87%

Question ID : 65497843646
Status : Answered
Chosen Option : 3

Q23 gfr 55inf—4cos0=0, 0°< 9 <90° &, ar 2900=c0s8 o7 oz w17 HifET)

Ssin 6+3cos@

A
ns x1§
7
X2 2
?
3
:?
x4 2
?

Question ID : 65497842532
Status : Answered
Chosen Option : 3

Q.24 ws 3= 225 km F ¥ T GAE T F T O F G G §1 56 W ¥ 630 km F g 97
¥ &7 ganr BT wrr wAE (et #) gas)

Ans 4
2.7
X3 6
X4 5

Question ID : 65497842524
Status : Answered
Chosen Option : 2




Q25 A siiv B % & W spw=y FEard € 5 A > B § 3 sHe wgees wAE (LCM) 200 #1 B - A
F AT T gem?

Ans . 1.102
<2 111
X3 121
<4108

Question ID : 65497842616
Status : Answered
Chosen Option : 1

Section : English Comprehension

Q.1 The following sentence has been split into four segments. Identify the segment that
contains a grammatical error.

The manager said, “Could you please / confirm me whether you / have received all the
items / that you had ordered?”

Ans X 1. have received all the items
2% 2. that you had ordered
/% 3. The manager said, “Could you please

7 4. confirm me whether you

Question ID : 65497843249
Status : Answered
Chosen Option : 3

Q.2 Select the INCORRECTLY spelt word.
Ans X 1. Miscellaneous

£ 2. Disciplinarian
./ 3. Exclaimation

< 4. Correspondence

Question ID ;: 65497842867
Status : Answered
Chosen Option : 2

Q.3 Select the option that will improve the underlined part of the given sentence. In case
no improvement is needed, select 'No improvement required'.

Many a man has succumbed to his temptations.
Ans . 1. No improvement required
X 2. men has
2< 3.amen have

£5 4. man has

Question ID : 65497842956
Status : Answered
Chosen Option : 1




Q.4 Select the most appropriate meaning of the given idiom.

Hold the key

Ans 25 1. To own a property

25 2. To have the right of succession
25 3. To keep a secret

«# 4. To have control of something

Question ID : 65497842963
Status : Answered
Chosen Option : 4

Q.5 Select the option that can be used as a one-word substitute for the given group of
words.

Something that is strong and lasts a long time without breaking or becoming weaker.
Ans 7 1. Durable

< 2. Harsh

5 3. Secure

X 4. Pliable

Question ID : 65497842561
Status : Answered

Chosen Option : 1

Q.6 Select the most appropriate synonym of the given word.
Succulent

Ans 7 1. Juicy

25 2. Foul

5 3. Decent

X 4. Coarse

Question ID : 65497842556
Status : Answered
Chosen Option : 1

Q.7 Select the correct active voice of the given sentence.
Rohan was pushed into the pool by Karan.
Ans X 1. Rohan pushed Karan into the pool.
2% 2. Karan was pushing Rohan into the pool.
«# 3. Karan pushed Rohan into the pool.
2% 4. Rohan had pushed Karan into the pool.

Question ID : 65497842644
Status : Answered
Chosen Option : 3




Q.8 Arrange the statements in the correct order to make a meaningful paragraph.

A. But, in developed societies, the childhood and adolescence is extended.

B. In rural communities, the customs are more uniform.

C. This provides more opportunities for education and character development.
D. The practices of child rearing vary from culture to culture.

Ans X 1.BCDA
% 2. BADC
7 3.DBAC
/< 4. DABC

Question ID : 65497842655
Status : Answered
Chosen Option : 2

Q.9 Select the most appropriate ANTONYM of the given word.
Negligent
Ans 7 1. Careful
X 2. Indifferent
< 3. Strange
/< 4. Faithful

Question ID : 65497843265
Status : Answered
Chosen Option : 1

Q.10 Select the INCORRECTLY spelt word.
Ans 2 1. Longitude

25 2. Manners
<5 3. Contrary
./ 4. Terribal

Question ID : 65497842563
Status : Answered
Chosen Option : 3

Q.11 Select the most appropriate ANTONYM of the given word.

Rectify
Ans X 1. Correct
./ 2. Corrupt
< 3. Select
KX 4. Assist

Question ID : 65497842961
Status : Answered
Chosen Option : 2




Q.12 Select the option that can be used as a one-word substitute for the given group of
words.

Sharpness and accuracy of judgment
Ans X 1. Experience
X 2. Estimation
/< 3. Knowledge

«/ 4. Acumen

Question ID : 65497842865
Status : Answered
Chosen Option : 4

Q.13 Select the option that will improve the underlined part of the given sentence. In case
no improvement is needed, select 'No improvement required'.

My father was always ordering about my sister.

Ans X 1.ordering on my sister
«/ 2. ordering my sister about
25 3. No improvement required

25 4. giving order for my sister

Question ID : 65497842654
Status : Answered
Chosen Option : 4

Q.14 Select the correct indirect speech form of the given sentence.

The teacher said, “You must work hard for your exams.”

Ans X 1. The teacher was advising her students to do work hard for their exams.
25 2. The teacher was telling her students to work hard for their exams.
25 3. The teacher told students for working hard for their exams.

</ 4. The teacher advised her students to work hard for their exams.

Question ID : 65497843258
Status : Answered
Chosen Option : 4

Q.15 The following sentence has been split into four segments. Identify the segment that
contains a grammatical error.

You should / have respond / to my query / sooner.
Ans X 1.tomy query

X< 2. sooner
«/ 3. have respond
&5 4. You should

Question ID : 65497842439
Status : Answered
Chosen Option : 3




Q.16 Select the correct passive voice of the given sentence.

She is making a beautiful beaded curtain.
Ans X 1. A beautiful beaded curtain is made by her.

25 2. A beautiful beaded curtain was made by her.
« 3. A beautiful beaded curtain is being made by her.
25 4. A beautiful beaded curtain was being made by her.

Question ID : 65497842544
Status : Answered
Chosen Option : 3

Q.17 Select the option that gives the most appropriate meaning of the underlined idiom.

My friends succeeded because they left no stone unturned in their search for an
answer to the problem.

Ans X 1. depended on many people
< 2. looked in different places
</ 3. made every possible effort
5 4. proposed good plans

Question ID : 65497843267
Status : Answered
Chosen Option : 3

Q.18 Select the most appropriate synonym of the given word.
Disrupt
Ans X 1.Arrange
25 2. Injure
5 3. Organise
./ 4. Breach

Question ID : 65497842656
Status : Marked For Review
Chosen Option : 2

Q.19 The following sentence has been divided into parts. One of them may contain an error.
Select the part that contains the error from the given options. If you don’t find any
error, mark ‘No error’ as your answer.

My neighbour’s grandson / is only / five month old.
Ans X 1.No error

</ 2. five month old
5 3. My neighbour’s grandson
& 4.is only

Question ID : 65497843550
Status : Marked For Review
Chosen Option : 1




Q.20 The following sentence has been split into four segments. Identify the segment that
contains a grammatical error.

The crew / of sailors / were not perturbed / by the strong gale.
Ans 7 1. were not perturbed

X 2. of sailors
X 3. The crew
25 4. by the strong gale

Question ID : 65497842541
Status : Answered
Chosen Option : 1

Comprehension:

In the following passage, some words have been deleted. Read the passage carefully and
select the most appropriate option to fill in each blank.

The greedy man rushed home to tell his wife and daughter about his wish, all the (1)
touching the objects in his path and watching (2) convert into gold. Once he got
home, his daughter (3) to greet him. As soon as he bent (4) to scoop her up
in his arms, she turned into a golden statue. He was (5) and started crying and trying
to bring his daughter back to life.

SubQuestion No : 21
Q.21 Select the most appropriate option to fill in blank number 1.
Ans X 1.interval

25 2. wayside
7 3. while
X 4. bit

Question ID : 65497842849
Status : Answered
Chosen Option : 2

Comprehension:

In the following passage, some words have been deleted. Read the passage carefully and
select the most appropriate option to fill in each blank.

The greedy man rushed home to tell his wife and daughter about his wish, all the (1)
touching the objects in his path and watching (2) convert into gold. Once he got
home, his daughter (3) to greet him. As soon as he bent (4) to scoop her up
in his arms, she turned into a golden statue. He was (5) and started crying and trying
to bring his daughter back to life.

SubQuestion No : 22
Q.22 Select the most appropriate option to fill in blank number 2.
Ans 7 1.them

X 2. their
£ 3. there
& 4. those

Question ID : 65497842850
Status : Answered
Chosen Option : 1




Comprehension:

In the following passage, some words have been deleted. Read the passage carefully and
select the most appropriate option to fill in each blank.

The greedy man rushed home to tell his wife and daughter about his wish, all the (1)
touching the objects in his path and watching (2) convert into gold. Once he got
home, his daughter (3) to greet him. As soon as he bent (4) to scoop her up
in his arms, she turned into a golden statue. He was (5) and started crying and trying
to bring his daughter back to life.

SubQuestion No : 23
Q.23 Select the most appropriate option to fill in blank number 3.
Ans 7 1.rushed

5 2. has rushed
< 3. was rush
£< 4. rushing

Question ID : 65497842851
Status : Answered
Chosen Option : 1

Comprehension:

In the following passage, some words have been deleted. Read the passage carefully and
select the most appropriate option to fill in each blank.

The greedy man rushed home to tell his wife and daughter about his wish, all the (1)
touching the objects in his path and watching (2) convert into gold. Once he got
home, his daughter (3) to greet him. As soon as he bent (4) to scoop her up
in his arms, she turned into a golden statue. He was (5) and started crying and trying
to bring his daughter back to life.

SubQuestion No : 24
Q.24 Select the most appropriate option to fill in blank number 4.

Ans X 1.up
25 2. through
</ 3. down

5 4. along

Question ID : 65497842852
Status : Answered
Chosen Option : 3




Q.25
Ans

Comprehension:

In the following passage, some words have been deleted. Read the passage carefully and
select the most appropriate option to fill in each blank.

The greedy man rushed home to tell his wife and daughter about his wish, all the (1)
touching the objects in his path and watching (2) convert into gold. Once he got
home, his daughter (3) to greet him. As soon as he bent (4) to scoop her up
in his arms, she turned into a golden statue. He was (5) and started crying and trying
to bring his daughter back to life.

SubQuestion No : 25
Select the most appropriate option to fill in blank number 5.
£5 1. demolished

o/ 2. devastated
< 3. destroyed
< 4. determined

Question ID : 65497842853

Status : Answered

Chosen Option : 2




